**1st Edition** 



# **Popp-Opens® Brochure**



☎ 01246 827807
 ➢ info@spin2winsheffield.co.uk
 ⊕ spin2winsheffield.co.uk

# Exclusive to Spin2win

#### Jumbotron B3a







- Exclusive to Spin2win, brand new B3a
- Sleek and modern cabinet design
- Huge 43" High-Definition touchscreen
- Wide range of popular branded games
  Fully connected with regular new game releases
- Fully connected with regular new game
   Stunning graphics and audio
- Supplied with FREE branded chair for maximum player comfort

#### **Jumbotron Tickets**

- Exclusive to Spin2win
- Compliment the Jumbotron B3A
- £2 to play £1,000 J'pots
- £1 to play £300 J'pots
- £50p to play £200 J'pots



## **25p STANDARD SET SIZE!**



2,800 card	$2,800 \text{ cards} @ 25p = \pm/00$					
PROF	IT =	£295				
1 Win (		£100				
1 Win (		£90				
2 Win	@ £25	£50				
2 Win (		£20				
2 Win (		£10				
270 Win (	@ 50p	£135				
PAYS OUT £405						



190 Win @ 50p ......£95

PAYS OUT £425







① 01246 827807
 ☑ info@spin2winsheffield.co.uk
 ⊕ spin2winsheffield.co.uk

## **50p STANDARD SET SIZE!**



## **£1 STANDARD SET SIZE!**



3,000 cards @ £1=£3,000				
PR	OFI	Τ=	£810	
2	Win @	£300	£600	
2	Win @	£100	£200	
2	Win @	£50	£100	
		£15	£300	
	Win @	£5	£400	
295	Win @	£2	£590	
P	AYS O	UT £	2,190	





PAYS OUT £2,190



PAYS OUT £2,070

£1 ......£340

340 Win @

#### 3,000 cards @ £1= £3,000 $PROFIT = \pounds 810$

2	Win @	£300.	£600
2	Win @	£100.	£200
2	Win @	£50.	£100
	Win @	£15.	£300
	Win @	£5.	£400
295	Win @	£2.	£590
P	AYS O	UT £2	2,190



PR	OF	IT	- =	£90	0
2	Win	@	£300	£60	00
2	Win	@	£100	£20	)0
2	Win	@	£50	£10	)0
	Win		£10	£10	)0
	Win		£5	£50	)0
400	Win	@	£1	£40	)0
P	AYS	Ol	JT £	1,900	



① 01246 827807 ⊠ info@spin2winsheffield.co.uk spin2winsheffield.co.uk

## **MEDIUM AND LARGE SET SIZE!**



10,000 cards @ 25p = £2,500  $PROFIT = \pm 765$ 3 Win @ £250 ..... £750 2 Win @ £100 ..... £200 10 Win @ £10 ..... £100 £5 ...... £60 £1 ...... £250 12 Win @ 250 Win @ 750 Win @ 50p ...... £375 PAYS OUT £1,735



10,080 cards @ $25p = £2,520$					
PR	OFI	T = :	£785		
3	Win @	£250	£750		
2	Win @		£200		
10	Win @	£10	£100		
	Win @	£5	£60		
			£250		
750	Win @	50p	£375		
PAYS OUT £1,735					



$10,080 \text{ cards} @ 50p = \pm 5,040$					
PR	OFIT	' = £	1,49	0	
3	Win @	£500.	£1,500		
1	Win @	£250.	£250		
5	Win @	£100.	£500		
125	Win @	£5.	£625		
375	Win @	£1.	£375		
600	Win @	50p.	£300		
P	AYS O	UT £3	8,550		



10,080 cards @ 50p = £5,040				
<b>PR</b> (	OFIT	' = £	1,940	
3	Win @	£300	£900	
	Win @			
	Win @	£10	£500	
		£5	£500	
300	Win @	£1	£300	
600	Win @	50p	£300	

,
Image: constraint of the second se
ROFIT = £3,030
2 Win @ £250 £500
6 Win @ £500£3,000 2 Win @ £250 £500 5 Win @ £100 £500

$\mathbf{EIT} = \mathbf{C1040}$		
DFIT = £1,940	6 Win @	£500£3,000
Win @ £300 £900	2 Win @	£250 £500
Win @ £100 £600	5 Win @	£100 £500
Win @ £10 £500	8 Win @	£50 £400
Win @ £5 £500	35 Win @	£20 £700
Win @ £1 £300		£5 £550
Win @ 50p £300	700 Win @	£2£1,400
AYS OUT £3,100	PAYS OL	JT £7,050
Win @ £10 £500 Win @ £5 £500 Win @ £1 £300 Win @ 50p £300	8 Win@ 35 Win@ 110 Win@ 700 Win@	£50 £400 £20 £700 £5£550 £2£1,400

Ρ



① 01246 827807 ⊠ info@spin2winsheffield.co.uk spin2winsheffield.co.uk

## £1,000 JACKPOT TICKETS!

AL NO

٤ſ

3

3

3

3

45 Win @

75 Win @

900 Win @







① 01246 827807 ⊠ info@spin2winsheffield.co.uk spin2winsheffield.co.uk

## **ALTERNATIVE TICKETS!**



# **<u>CLUB/PUB SUPPLIES</u>**



#### **ORDER LIST**

#### **Bingo Books**

PRODUCT CODE	SET SIZE
2 Page 3 Page	12096 Books 12096 Books
4 Page	6048 Books
5 Page	6048 Books
6 Page	6048 Books
7 Page 8 Page	3024 Books 3024 Books
9 Page	3024 Books
10 Page	3024 Books
12 Page	3024 Books

#### **Bingo Dabbers & Pens**

PRODUCT CODESET SIZEDab-A-Lot™144Dabbin' Win™144Felt Tip Pens250

All books are available as 6 or 12 to view. Carriage charge applicable depending on size of order.

If you require something not listed, please call us as we can source many other products.







Become a customer not an account

#### **QUICK REFERENCE CHART**

SET SIZE	£2 TICKETS	<b>£1</b> TICKETS	50p TICKETS	25p TICKETS
2,800		FOR REEL KRAZY KINGS CASINO NEVADA SIP AND SLIDE NOTHIN' BUT 7's	ONE EYED JACKS	LUCKY DUCKS
2,820			FOOTBALL MAD	MONEY BOOM
2,840		STEEPLECHASE	BINGO TWIST CASH MACHINE	DOUBLE JOKER POKER
3,000	BANANAS	LUCKY DEVIL MONOPOLY	DARTS & DOMINOES RISE TO POWER	WEEKEND BENDER
3,599			BLACK DIAMOND	
5,000		CLASSIC TRIPLE 777's	LOADED WITH CASH	
10,000				WINNERS VAULT
10,080		LOADSA LOLLY ROLL FOR CASH	MONEY MAGIC BARREL OF BUCKS	TREASURE HUNT
20,040		CASH CROWNS		





### Call now for a copy of our latest product brochure



We have the best products. We deliver the best service. We provide the best support.

> Contact us now ☎ 01246 827807 ≤ info@spin2winsheffield.co.uk ⊕spin2winsheffield.co.uk

Stuart Booth TOT955 277811 Sbooth@spin2winsheffield.co.uk

Spin2win is a member of the Cowells Arrow family of companies.